o % /5 ﬁ Arithmetik der ganzen Exponenten

Name: Datum: Ergebnis:
7= (-6) = (2 +(-2)=
(-8)" = (-1 = (8)+(2) =
72 +10 = (-7 =3 =
1> +2= (—10)* + 10 =
(-7)* +7= 5 5=
3-2= 1>~ (-8) =
9 +9= 5-8=
1-5= 7 +(-7) =
4’ - 6= (-10)* -9 =
(-8)" 5= 7= (9)=
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o % g ﬁ Arithmetik der ganzen Exponenten

Name: Datum: Ergebnis:
7 = (6) =55 (2" +(=2) = (-1)
(=8)° = (1) = (=511) (=8) +(=2) = (-10)
77 +10=159 (—=7)* =3 =46
P+2=3 (—10)* + 10 = (—990)
(=7 +7=56 52 —5=120
3-2=1 1> (-8)=9
93 +9 =738 5-8=(-3)
1-5=(-4) (=7)* + (=7) = (-350)
49— 6= (-5) (-10)* =9 =91
(8)" =5=(-4) (=7)° = (=5) = (-338)
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